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Candidartes are required to give their answers in their own words
as far as practicable.
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All the questions are compulsory [C

1. One of the reasons behind the depletion of groundwater table is
(a) water and soil pollution.
(b) change in monsoon timing.
(¢) increase in concretized land surface and consequent loss of water percolation.
(d) Nonc of thc above.
2. Who led the Green Revolution in India?
(a) Medha Patkar (b) ML.S. Swaminathan
(c) Rajendra Singh ' (d) Ramchandra Guha.

3. Which of‘ the following lands are suitable for setting up industries from the viewpoint of environment?
(a) Agricultural land (b) Wasteland "
(c) Wetlands (d) Forest.

4. Which of the following relationship is correct?

(a) Stockholm Conference — 1972 (b) Ramsar Convention — 1992
(c) Rio Earth Summit — 1997 (d) Paris Convention — 2001.

5. Which of the following relationship is correct?

(a) Johad — Soil conservation (b) Johad — Water conservation
(c) CNG — Water pollution (d) Bishnoi — Agriculture.

6. The disease caused by mercury poisoning is known as
(a) Itai-itai ' (b) Encephalitis
(c¢) Minamata (d) Asbestosis.

‘ .
7. Which of the following is a silent zone?
(a) Market area (b) Residential area
(c) Educational institutional area (d) Office area.
8. Environmental (Protection) Act was passed in the year of
(b) 1986

(a) 1988
(c) 1992 (d) 2002.
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cosystem of flowing water is called '

(a) Lentic (b) Lotic
(©) Neritic (d) Limnetic.

Which of the following relationship is correct?
(b) NPP = GPP+R

(@) GPP = NPP+R
(© R = NPP+GPP (d) GPP = NPP.
'

How many biogeographicy] regions are thcfc in India?
(@ 9 (b) 10

(© 11 (d) 12.

Sundarbans is a
(a) Biosphere reserve
(c) National Park

(b) Ramsar site
(d) All are correct.

The number of biodiversity hotspots in India —

(a) 2 (b) 3

(c) 4 (d) 6.

Which of the following is an endangered species?

(a) Kangaroo (b) Bat
(d) Frog

(c) Royal Bengal Tiger
In which state of India the Asian Lions are found?
{b) Gujarat

(a) West Bengal
(d) Assam.

(c) Maharashtra
The main responsible gas for acid rain is

(a) Oxygen
(c) Hydrogen sulfide

(b) Carbon dioxide
(d) Sulfur dioxide.

Which of the following relationship is correct?
(a) Photochemical reaction — Volatile Organic Compound

(b) Carbon dioxide — Secondary pollutant

(¢) CFC — Stone cancer of Tajmahal

(d) Suspended Particles — Global warming.

What does the unit decibel measure in case of noise pollution?

(b) Type of noise

(@) The 'wavelength of sound
(d) Intensity of noise.

(c) Spread of noise
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19, What arc the main three ‘R's of solid waste management?

20.

21.

22.

23.

25.

(a) Rot = Remove — Rethink (b) Reduce — Reuse — Recycle
(¢) Reduce — Recovery — Rediscovery (d) Refuse — Remove - Rot.
What is measured by BOD?

(a) Water pollution (b) Air pollution
(c) Soil pollution (d) Noise pollution.

Which of the following diseases is caused by air pollution?
(b) Blackfoot disgase

(a) Arsenocosis
(d) Polio.

uded?

(©) Silicqsis
In which section/s of the Constitution of India the protection of environment. is incl
(a) 37A & 51A(g) (b) 48A & 51A(g)

(d) 41G & 89A

(c) 47C & 65A
Which is the reason behind increase in life expectancy of the people of a country?

(a) If population is declining
(b) If disease related mortality and child mortality is reduced

(c) If it becomes well educated
(d) If natural disasters can be avoided.

Chernobyl disaster is a
(a) Nuclear accident
(c) Pollution related incident

(b) Natural disaster
(d) Political incident.

What is the unit of measuring earthquake?
(b) Decibel

(a) Perce‘ntage
(d) Richter scale.

(c) Vibrogram




